
https://www.bsebstudy.com 

BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2015 
इंटरमीडिएट परीऺा - 2015 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION - A 

ननम्नमरखित प्रश्न सॊख्मण 1 से 40 भें चणय विकल्ऩ हैं, जजनभें से केिर एक ही सही 
उत्तय है। सही विकल्ऩ कण चनुणि कयें एिॊ उत्तय-ऩत्र भें चचजननत कयें।  

 

1. अर्थव्मिस्र्ण की केन्द्रीम सभस्मण कौन-सी है ? 

(a) सणधनों कण आिॊटन 

(b) सणधनों कण कुशरतभ प्रमोग 

(c) आचर्थक विकणस 

(d) इनभें से सबी  

 

2. उत्ऩणदन कण ननम्न भें कौन-सण सणधन है ? 

(a) बमूभ 

(b) श्रभ 

(c) ऩूॉजी 

(d) इनभें से सबी 
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3. ककसके अनसुणय अर्थशणस्त्र भणनि कल्मणर् कण विऻणन है ?  

(a) ए० भणशथर  

(b) ऩॉर सेम्मरुसन  

(c) जे एस मभर  

(d) एडभ जस्भर्  

 

4. ननम्नमरखित भें कौन उत्ऩवत्त कण सणधन नहीॊ है ? 

(a) बमूभ 

(b) श्रभ 

(c) भरुण 

(d) ऩूॉजी 

 

5. सफसे ऩहरे 'भणइक्रो' शब्द कण प्रमोग कयने िणरे हैं।  

(a) भणशथर  

(b) फोजल्डॊग 

(c) कीन्द्स 

(d) यैगनय किश 

 

6. उऩबोक्तण व्मिहणय कण अध्ममन ककमण जणतण है। 

(a) सकू्ष्भ अर्थशणस्त्र भें 

(b) आम मसदधणॊत भें  

(c) व्मणऩक अर्थशणस्त्र भें 

(d) इनभें से कोई नहीॊ  
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7. आिश्मक िस्तुओॊ की भणॉग की रोच होती है।  

(a) शनू्द्म 

(b) असीमभत 

(c) इकणई से अचधक  

(d) इकणई से कभ 

 

8. भणॉग की रोच को प्रबणवित कयने िणरे घटक कौन-सण है ? 

(a) िस्तु की प्रकृनत 

(b) कीभत स्तय  

(c) आम स्तय 

(d) इनभें से सबी 

 

9. भणॉग कण ननमभ है 

(a) गुर्णत्भक कर्न  

(b) भणत्रणत्भक कर्न  

(c) (a) एिॊ (b) दोनों 

(d) इनभें से कोई नहीॊ 

 

10. उत्ऩणदन परन भें उत्ऩणदन ककसकण परन है ? 

(a) कीभत कण  

(b) उत्ऩणदन के सणधनों कण  

(c) कुर व्मम कण 

(d) इनभें से कोई नहीॊ 
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11. िह कौन-सण सभम है जजसभें उत्ऩणदन के सबी सणधन ऩरयिनतथत ककए जण सकते हैं? 

(a) अल्ऩकणर  

(b) दीघथकणर 

(c) अनत दीघथकणर  

(d) इनभें से सबी 

 

12. औसत ऩरयितथनशीर रणगत को ऩरयबणवित ककमण जणतण है 

(a) TVC x Q दिणयण 

(b) TVC + Q दिणयण 

(c) TVC - Q दिणयण 

(d) TVC + Q दिणयण 

 

13. पभथ कण सॊतुरन भें होतण है  

(a) MR = MC  

(b) MC > MC 

(c) MR < MC 

(d) MR = MC = 0 

 

14. ऩनूतथ ननम्नमरखित भें ककससे जुडी होती है ? 

(a) ककसी सभम की अिचध 

(b) कीभत  

(c) (a) एिॊ (b) दोनों 

(d) इनभें से कोई नहीॊ 
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15. िस्तु की ऩनूतथ के ननधणथयक घटक हैं। 

(a) िस्तु की कीभत 

(b) सॊफॊचधत िस्तुओॊ की कीभत 

(c) उत्ऩणदन सणधनों की कीभत  

(d) इनभें से सबी 

 

16. फणजणय की ननम्नमरखित भें कौन-सी विशिेतण है ?  

(a) एक ऺेत्र 

(b) के्रतणओॊ औय विके्रतणओॊ की उऩजस्र्नत 

(c) िस्तु कण एकर भलू्म 

(d) इनभें से सबी 

 

17. एकणचधकणयी प्रनतमोचगतण की ननम्नमरखित भें कौन-सी विशिेतणएॉ हैं ? 

(a) विबेदीकृत उत्ऩणदन 

(b) विक्रम रणगतें 

(c) फणजणय कण अऩरू्थ ऻणन 

(d) इनभें से सबी 

 

18. भणॉग भें ऩरयितथन कण ननम्नमरखित भें कौन-सण कणयर् है ?  

(a) उऩबोक्तण की आम भें ऩरयितथन  

(b) सॊफॊचधत िस्तुओॊ की कीभत भें ऩरयितथन 

(c) जनसॊख्मण िदृचध  

(d) इनभें से सबी  
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19. सणधन रणगत ऩय शदुध यणष्ट्रीम उत्ऩणद को कहण जणतण है। 

(a) यणष्ट्रीम आम  

(b) सकर ननिेश  

(c) घयेर ूआम  

(d) इनभें से कोई नहीॊ  

 

20. नघसणिट व्मम ककसभें सजम्भमरत यहतण है ? 

(a) GNPMP 

(b) NNPMP 

(c) NNPFC 

(d) इनभें से कोई नहीॊ 

 

21. तीन ऺेत्रीम भॉडर भें ननम्न भें से कौन शणमभर है ?  

(a) ऩरयिणय  

(b) सयकणय  

(c) पभथ 

(d) इनभें से कोई नहीॊ 

 

22. ततृीमक ऺेत्र के अॊतगथत ननम्न भें से कौन-सी सेिण सजम्भमरत है 

(a) िनन 

(b) ननभणथर् 

(c) सॊचणय 

(d) ऩशऩुणरन  
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23. यणष्ट्रीम आम कण भणऩन ननम्नमरखित भें से ककस विचध से ककमण जणतण है ?  

(a) उत्ऩणदन विचध  

(b) आम विचध  

(c) व्मम विचध  

(d) इनभें से सबी 

 

24. 'भरुण िह है जो भरुण कण कणमथ कयें।' मह ककसने कहण है ? 

(a) हणरे ने  

(b) कीन्द्स न े

(c) हणटथरे विदसथ ने  

(d) प्रो. टटनफजथन न े

 

25. व्मणऩणरयक फैंकों के प्रणर्मभक कणमथ ननम्नमरखित भें से कौन-सण है ? 

(a) जभणएॉ स्िीकणय कयनण 

(b) ऋर् देनण  

(c) सणि ननभणथर् 

(d) इनभें से सबी 

 

26. ATM कण ऩरू्थ रूऩ क्मण है ? 

(a) एनी टणइभ भनी 

(b) ऑर टणइभ भनी 

(c) ऑटोभेटेड टेरय भशीन 

(d) (a) एिॊ (b) दोनों 
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27. रयजिथ फैंक ऑप इजडडमण की स्र्णऩनण हुई 

(a) 1947 भें  

(b) 1935 भें  

(c) 1937 भें 

(d) 1945 भें 

 

28. भणइक्रोस (Micros) जजसकण अर्थ सकू्ष्भ (small) होतण है, ननम्न भें से ककस बणिण 
कण शब्द है?  

(a) अयफी 

(b) ग्रीक 

(c) जभथन 

(d) अॊगे्रजी 

 

29. भणॉग की रोच ककतने प्रकणय की होती है ? 

(a) तीन  

(b) ऩणॉच 

(c) छ्  

(d) सणत 

 

30. केन्द्रीम फैंक दिणयण कौन-सी भरुण जणयी की जणती है ?  

(a) चरन भरुण  

(b) सणि भरुण  

(c) मसक्के 

(d) इनभें से सबी  
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31. बणयतीम रयजिथ फैंक ने ऩहरी फणय ननजी ऺेत्र भें नए फैंक को रणइसेंस जणयी कयने के 
मरए टदशण-ननदेश घोवित ककए  

(a) 22 जनियी, 1993 को 

(b) 15 भणचथ, 1995 को 

(c) 1 अप्ररै, 1999  

(d) इनभें से कोई नहीॊ 

 

32. बणयत भें फॉककॊ ग ऺेत्र सधुणय प्रणयम्ब हुआ 

(a) 1969 भें  

(b) 1981 भें  

(c) 1991 भें 

(d) 2001 भें 

 

33. ‘ऩनूतथ स्िमॊ भणॉग कण सजृन कयती है।' ननम्न भें से ककसने प्रनतऩणदन ककमण ?  

(a) जे. फी. से ने  

(b) के एस. मभर ने  

(c) पीन्द्स ने  

(d) रयकणडों ने  

 

34. कीन्द्स कण योजगणय मसदधणॊत ननम्न भें से ककस ऩय ननबथय है ?  

(a) प्रबणिऩरू्थ भणॉग  

(b) ऩनूतथ  

(c) उत्ऩणदन ऺभतण  

(d) इनभें से कोई नहीॊ 
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35. Traited Economic Politique' नणभक ऩसु्तक के रेिक कौन हैं ?  

(a) ऩीगू  

(b) जे० फी० से  

(c) कीन्द्स  

(d) रयकणडो  

 

36. मटद MPC = 0.5 तो गुर्क (k) होगण 

(a) 1

2 
 

(b) 0 

(c) 1 

(d) 2 

 

37. क्रणमसकर विचणयधणयण ननम्न भें से ककस तथ्म ऩय आधणरयत है ?  

(a) 'से' कण फणजणय ननमभ  

(b) भजदयूी दय की ऩरू्थ रोचशीरतण 

(c) ब्मणज दय की ऩरू्थ रोचशीरतण 

(d) इनभें से सबी 

 

38. ननम्न भें से कौन अप्रत्मऺ कय है ? 

(a) आम कय 

(b) सम्ऩवत्त कय 

(c) उत्ऩणदन शलु्क  

(d) उऩहणय कय 
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39. चणर ूिणते की ननम्नमरखित भें कौन-सी भद है ? 

(a) दृश्म भदों कण आमणत 

(b) ऩमथटकों कण िचथ  

(c) दृश्म भदों कण ननमणथत 

(d) इनभें से सबी 

 

40. व्मणऩणय सॊतुरन कण अर्थ होतण है  

(a) ऩूॉजी के रेन-देन स े

(b) िस्तुओॊ कण आमणत एिॊ ननमणथत से  

(c) कुर के्रडडट तर्ण डबेफट से 

(d) इनभें से सबी 

SECTION -B 

 

प्रश्न सॊख्मण 1 से 10 तक रघ ुउत्तयीम प्रश्न हैं। प्रत्मेक प्रश्न के मरए 3 अॊक ननधणथरयत 
हैं।  https://www.bsebstudy.com 

1. आचर्थक प्रर्णरी ककतने प्रकणय की होती है ? 

2. उदणसीनतण िक्र क्मण है ?  

3. भणॉग की रोच से आऩ क्मण सभझते हैं ? 

4. चगकपन िस्तुओॊ से आऩ क्मण सभझते हैं ? 

5. भरुण के स्र्नैतक एिॊ गत्मणत्भक कणमों कण िर्थन कयें। 

6. केन्द्रीम फैंक ककस प्रकणय व्मणऩणरयक फैंक से मबन्द्न होतण है ? 

7. ऩभैणने के प्रनतपर से आऩ क्मण सभझते हैं ? 

8. ऩरू्थ प्रनतमोचगतण भें पभथ के भणॉग िक्र की क्मण आकृनत होती है ?  

9. स्पीनतक अॊतयणर क्मण है ? 
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10. व्मणऩणय सॊतुरन एिॊ बगुतणन सॊतुरन भें क्मण अॊतय है ? 

 

प्रश्न संख्या 11 से 15 तक दीर्ि उत्तरीय प्रश्न हैं। प्रत्येक प्रश्न के लऱए 6 अंक ननर्ािररत 
हैं। 

 

11. सीभणॊत उऩमोचगतण ह्रणस ननमभ क्मण है ? इसके भहत्ि एिॊ सीभणएॉ फतणइए। 

12. ऩनूतथ की रोच को ऩरयबणवित कीजजए। इसके भणऩन की दो विचधमणॉ फतणइए। 

13. एक केन्द्रीम फैंक के भखु्म कणमों कण िर्थन कयें। 

14. प्रबणिी भणॉग कण मसदधणॊत क्मण है ? 

15. भरुण कण क्मण कणमथ है ? 

 

 

******* 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2015 
इंटरमीडिएट परीऺा - 2015 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION - A 

For question nos. I to 40 there are four alternatives of which o one is correct. Choose the 

correct alternative and mark it in the answer sheet: 

 

1. Which is a central problem of an economy? 

(a) Allocation of Resources 

(b) Optimum utilization of Resources  

(c) Economic development 

(d) All of these 

 

2. Which of the following is a source of production?  

(a) Land  

(b) Labour 

(c) Capital  

(d) All of these 

 

3. According to whom, Economics is a science of human welfare? 

(a) A. Marshall 

(b) Paul Samuelson 

(c) J. S. Mill  

(d) Adam Smith 
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4. Which of the following is not a factor of production?  

(a) Land  

(b) Labour  

(c) Money 

(d) Capital 

 

5. The word 'micro was first used by 

(a) Marshall 

(b) Boulding  

(c) Keynes 

(d) Ragnar Frisch 

 

6. Consumer's behaviour is studied in 

(a) Micro-economics  

(b) Income theory  

(c) Macro-economics 

 (d) None of these 

 

7. Elasticity of demand for necessary goods is 

(a) zero 

(b) unlimited 

(c) greater than unity  

(d) less than unity  

 

8. Which of the following factors affects elasticity of demand? 

(a) Nature of goods  

(b) Price level 

(c) Income level 

(d) All of these 
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9. Law of demand is a 

(a) Qualitative statement 

(b) Quantitative statement 

(c) Both (a) and (b) 

(d) None of these 

 

10. In production function, production is a function of 

(a) price 

(b) factors of production 

(c) total expenditure 

(d) None of these 

 

11. At which time all the factors of production may be changed? 

(a) Short run 

(b) Long run 

(c) Very long run  

(d) All of these 

 

12. Average variable costs can be defined as 

(a) TVC × Q  

(b) TVC + Q  

(c) TVC - Q  

(d) TVC ÷ Q 

 

13. For a firm's equilibrium 

(a) MR = MC 

(b) MR > MC 

(c) MR < MC 

(d) MR = MC = 0 
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14. Supply is associated with 

(a) a time period 

(b) price 

(c) both (a) and (b) 

(d) none of these 

 

15. Determining factor of supply of goods is: 

(a) Price of goods 

(b) Price of related goods 

(c) Price of factors of production 

(d) All of these 

  

16. Which is a characteristic of the market ? 

(a) One area  

(b) Presence of Buyers and Sellers  

(c) Single price of the commodity 

(d) All of these 

 

17. Which one is a feature of monopolistic competition? 

(a) Differentiated product  

(b) Selling cost 

(c) Imperfect knowledge of the market  

(d) All of these  

 

18. Which is a reason of change in demand? 

(a) Change in Consumer's Income 

(b) Change in price of related goods 

(c) Population increase  

(d) All of these 
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19. Net National Income at factor cost is called 

(a) National Income 

(b) Gross Investment 

(c) Income 

(d) None of these 

 

20. Depreciation expenses are included in 

(a) GNPMP  

(b) NNPMP 

(c) NNPPC  

(d) none of these 

 

21. Which one is included in three sector model? 

(a) Family 

(b) Goverment  

(c) Firm 

(d) None of these 

 

22. Which service is included in Tertiary sector? 

(a) Mining 

(b) Construction 

(c) Communication 

(d) Animal Husbandry  

 

23. Which method is adopted in measuring National Income? 

(a) Production method 

(b) Income method 

(c) Expenditure method 

(d) All of these 
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24 . "Money is what money does"-Who said it? 

(a) Hawtrey  

(b) Keynes 

(c) Hartiey Withers 

(d) Prof. Tinbergen 

 

25. Which is the primary function of commercial banks? 

(a) Accepting deposits 

(b) Advancing loans 

(c) Credit creation 

(d) All of these 

 

26. The full form of ATM is  

(a) Any Time Money 

(b) All Time Money 

(c) Automated Teller Machine  

(d) both (a) and (b)  

 

27. Reserve Bank of India was established in 

(a) 1947 

(b) 1935 

(c) 1937 

(d) 1945 

 

28. Micros which means 'small' belongs to which language?  

(a) Arabic  

(b) Greek  

(c) German 

(d) English 
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29. How many types of elasticity of demand is there? 

(a) Three 

(b) Five 

(c) Six 

(d) Seven 

 

30. Which money is issued by the central bank?  

(a) Currency  

(b) Credit money 

(c) Coins 

(d) All of these 

 

31. RBI announced the guidelines to issue itences to new banks of Private Sector on 

(a) January 22, 1993 

(b) March 15, 1995 

(c) April 1, 1999 

(d) None of these  

 

32. Banking Sector Reforms in India began in 

(a) 1969 

(b) 1981 

(c) 1991 

(d) 2001 

 

33. Supply creates its own demand" Who gave this law?  

(a) J. B. Say  

(b) J. S. Mill  

(c) Keynes 

(d) Ricardo 
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34. On which factor does Keyneaian theory of employment depend? 

(a) Effective demand 

(b) Supply 

(c) Production efficiency  

(d) None of these  

 

35. Who is the writer of the book. 'Traited Economic Politique'? 

(a) Pigou  

(b) J. B. Say  

(c) Keynes  

(d) Ricardo 

 

36. If MPC 0.5 then multiplier (k) will be 

(a) 
1

2
 

(b) 0 

(c) 1 

(d) 2 

 

37. On which concept does classical viewpoint depend?  

(a) Say's slaw of market 

(b) Perfect Flexibility of wage Rate 

(c) Perfect Flexibility of Interest Rate 

(d) All of these 

 

38. Which is included in indirect tax? 

(a) Income tax 

(b) Wealth tax  

(c) Excise duty  

(d) Gift tax 



https://www.bsebstudy.com 

39. Which one is the item of Current Account ? 

(a) Import of visible items 

(b) Expenses of tourists 

(c) Export of visible items 

(d) All of these 

 

40. Balance of trade means  

(a) Capital transaction 

(b) import & export of goods  

(c) total debit and credit  

(d) all of these 

SECTION-B 

Question Nos. 1 to 10 are short answer type and each carries 3 marks:  

1. What are the different types of economic system? 

2. What is Indifference Curve?  

3. What is elasticity of demand? 

4. What do you mean by Giffen goods? 

5. Explain the static and dynamic functions of money.  

6. How is central bank different from commercial bank ? 

7. What do you mean by Returns to Scale? 

8. What is the shape of demand curve of a firm in perfect competition ? 

9. What is inflationary gap? 

10. What is the difference between trade balance and balance of payments?  

 

Question Nos. 11 to 15 are long answer type and each carries 6 marks: 

11. What is law of diminishing marginal utility? Explain its importance and limitations. 

12. What is elasticity of supply? Explain two methods of its measurement.  

13. Explain important functions of a central bank.  https://www.bsebstudy.com 

14. What is the principle of effective demand?  

15. What is the function of money? 
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